12a0497 (K12a0427)

Linearized knot diagam

NECENEEFEEENEE

T3 6 10 7 9 2 12 5 1 4 8 11

Solving Sequence

812>47>5-—>9->11—>1->10>3->2-—>6—>>C2,05C9
Ccr Cy

A knot diagrarrﬂ g €11 Ci2 Cio €3 €1 Cp

Ideals for irreducible component#ﬂ)f Xpar

I = (575260u5" 4+ 2605705u%0 + - - - + 248832b — 26005926,
563467900u5" + 2831326125u%C + - - - + 2122536964 + 11136298543,
5u% 4+ 30u" + - - - 4 5054u + 853)

IY = (—d*u+au+b—2a+2, a® — 2a%u +2a®> + au — 2a + 3u — 1, u> —u + 1)

IY = (u* +b, —u? +a—1, v’ +u® +u+1)

I'=(b+u, a+u, u’>+ud4+u—1)

I = (b*au — 2a*bu + a*u 4+ b* — 3b%a + 3a*b — a® + 2bu —au —a+u —1, u® —u+ 1)

IY = (bau — a®u + b* — 2ba + bu + a* —au — b+ u, u> —u +1)

17 =

I =

u?a + au+ b, vda +u?a+ au —1)

b—a—u+1, u* —u+1)

IV ={(a, 05— 20" =3 + V> +b+1, v —1)

* 5 irreducible components of dime = 0, with total 90 representations.
* 4 irreducible components of dim¢ = 1

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

L.
It = (5.75X10%u%742.61 x 105u%¢ +. . . 4+2.49x10°6—2.60%x 107, 5.63x 108u’"+
2.83x10%u%¢ ... 4+2.12X10%a+1.11 X 10'°, 5u%8 +30u®" +- . -4 5054u+853)

(i) Arc colorings

= (o)

a2 = ( )
—2.65469u%7 — 13.3393u% + ... — 582.171u — 52.4669
ag = \ —2.31184u’" — 10.4717ub + - - - + 255.745u + 104.512
= ()
—1.24736u%" — 3.35352u% + - .. 4 1325.95u + 284.669
as = \ 1.92813uS" + 11.8675u% + - .. + 2054.31u + 367.547
—0.313259u57 — 1.69428u%6 + ... — 190.456u — 28.1702
a9 = \0.0108507u’" 4+ 0.221354u%6 + - .. + 85.6145u + 16.6233
(u vu)
0.103137u%7 + 0.458229u56 + ... — 55.5265u — 13.1298
0.158691u°%7 + 0.674371u%6 + - .- — 92.1597u — 23.0834
—1.97519u57 — 5.35349u%6 + ... 4+ 1993.77u + 439.517
a3 = \ 2.40346u57 + 18.6888u%6 + ... + 4616.08u + 863.329
3.36495u%7 + 16.0548u0 + - .- + 184.845u — 49.3617
az = \1.33590u8" + 2.51799u% + - .. — 2210.43u — 464.485

2.83094u°7 +-10.9767u + - - - — 906.631u — 247.880
as = \ —2.22960u’" — 16.9831u% + - — 4002.13u — 746.999

(ii) Obstruction class = —1

~ 186624 U 124416 16656 & 373248

(iii) Cusp Shapes _ _ 327295, 67 1808905 66 4. 177580613 269328401



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1 25(25u%® + 680u’” + - - - 4 7437476u + 727609)
ca2, o 5(5u5® 4 30u” + - - - + 5054u + 853)
€3, €10 81(81u%® + 648uS" + - - - 4 29832u + 4477)
€4 64(64u"® — 256u°7 + - - - — 4.94845 x 107w + 9687600)
Cs5, C8 81(81u®® — 648uS" + - - - — 29832u + 4477)
er, e 5(5u5® — 30u” + - - — 5054u + 853)
Co 64(64u® + 256u°" + - - - +4.94845 x 107u + 9687600)
C12 25(25u%® — 680u’” + - - - — T7437476u + 727609)




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C12 625 i i
- (625y%8 4 16300457 4 - - - + 11609525524248y + 529414856881)
€2, €6, C7 25(25y% + 68057 + - - - 4 7437476y + 727609)
C11
€3,¢s,C8 6561(6561y%% — 279936557 + - - — 3.61575 x 107y + 2.00435 x 107)
C10
4. o 4096

- (4096358 — 8192¢/57 4 - - - — 815469037963200y + 93849593760000)




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

0.702519 + 0.7172771
= —0.75644 — 1.315221
—1.296900 — 0.4517911

1.29111 — 5.344611

0.702519 — 0.7172771
—0.75644 + 1.315221
—1.296900 + 0.4517911

1.29111 + 5.344611

—0.772722 4- 0.6144541
—0.904625 — 0.6871851
—0.34299 — 1.423961

—3.93086 — 2.257621

—0.772722 — 0.6144541
—0.904625 4 0.6871851
—0.34299 + 1.423961

—3.93086 + 2.257621

—0.787880 4+ 0.5889011
1.094050 + 0.5754791
0.45000 + 1.537661

—5.97017 — 7.336631

—0.787880 — 0.5889011
1.094050 — 0.5754791
0.45000 — 1.537661

—5.97017 + 7.336631

0.112405 + 1.0367801
= —0.685771 — 0.8115141
—0.008091 — 0.4655371

—0.02177 — 6.747301

0.112405 — 1.0367801
—0.685771 4 0.8115141
—0.008091 + 0.4655371

—0.02177 4 6.747301

—0.833820 + 0.6301751
0.718590 + 0.2987171
0.549137 + 1.1819601

—8.97416 + 0.227661

—0.833820 — 0.6301751
= 0.718590 — 0.2987171
= 0.549137 — 1.1819601

> Q@ Sl Q& €| @ 8|l @ 8|l © €| @ 8|l 9@ €| Q@ 8|l & 8|l o &
Il

—8.97416 — 0.227661




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= 0.078667 + 0.9476901
= 0.769173 + 0.8186471
= 0.215986 + 0.2473601

1.67199 — 2.073441

4.37435 +4.030781

= 0.078667 — 0.9476901
0.769173 — 0.8186471
= 0.215986 — 0.2473601

1.67199 + 2.073441

4.37435 — 4.030781

= 0.937214 + 0.4952551
0.95339 — 1.237851
= —0.408666 — 1.1135701

—1.95572 4 13.262701

= 0.937214 — 0.4952551
= 0.95339 + 1.237851
—0.408666 + 1.1135701

—1.95572 — 13.262701

0.984482 + 0.4237181
0.934550 — 0.7213681
—0.123632 — 0.7853881

—7.11233 + 4.711081

0.984482 — 0.4237181
= 0.934550 + 0.7213681
= —0.123632 4 0.7853881

—7.11233 — 4.711081

= 0.957820 + 0.5028931
= —0.811297 + 1.1549801
= 0.446758 4 0.9857561

7.232211

= 0.957820 — 0.5028931
= —0.811297 — 1.1549807
= 0.446758 — 0.9857561

—7.232211

= 0.526643 + 0.9561821
= 0.65049 4 1.370331
= 1.06139 + 1.067041

—0.45309 — 3.043841

= 0.526643 — 0.9561821
= 0.65049 — 1.370331
= 1.06139 — 1.067041

> Q& €| & €|l & €| Q& €| Q2 &) Q@ 8| Q@ €|l & €|l & &> & &
I

—0.45309 + 3.043841




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.749817 + 0.4153691
= —1.04809 — 1.175491
0.620776 — 1.0561801

2.68807 — 7.692271

0.67631 + 5.858631

—0.749817 — 0.4153691
= —1.04809 + 1.175491
0.620776 + 1.0561801

2.68807 + 7.692271

0.67631 — 5.858631

—0.670154 + 0.9372441
= —1.45327 4+ 0.062641
—1.234960 — 0.2022871

—1.29111 + 5.344611

—0.670154 — 0.9372441
—1.45327 — 0.062641
—1.234960 + 0.2022871

—1.29111 — 5.344611

—0.117684 + 1.1481201
= 0.066271 + 0.3442591
= —0.348380 — 0.8482381

7.75434 — 5.464921

—0.117684 — 1.1481207
0.066271 — 0.3442591
—0.348380 + 0.8482381

7.75434 + 5.464921

—0.753289 + 0.3803351
0.98818 + 1.058111
—0.609854 + 0.8448471

3.93086 — 2.257621

3.33892 4 0.572101

—0.753289 — 0.3803351
0.98818 — 1.058111
—0.609854 — 0.8448471

3.93086 + 2.257621

3.33892 — 0.572101

—0.341284 + 0.7605001
—2.29641 — 0.772041
—1.73365 — 0.139821

0.45309 + 3.043841

3.47317 + 0.779591

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g

= —0.341284 — 0.7605001
= —2.29641 + 0.772041
= —1.73365 + 0.139821

0.45309 — 3.043841

3.47317 — 0.779591




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.145225 + 0.8130621
= 1.28772 4 0.607611
0.749993 — 0.1755881

1.65241 — 1.059411

6.63964 + 4.570241

—0.145225 — 0.8130621
1.28772 — 0.607611
0.749993 + 0.1755881

1.65241 + 1.059411

6.63964 — 4.570241

0.780665 + 0.2696211
1.108650 + 0.1420411
0.637811 — 0.3891391

—4.47467 — 4.391991

—7.74935 + 3.759551

0.780665 — 0.2696211
1.108650 — 0.1420411
0.637811 4 0.3891391

—4.47467 + 4.391991

—7.74935 — 3.759551

—0.132701 4 1.1760801
0.023962 — 0.2387271
0.328720 + 0.9278471

8.97416 + 0.227661

—0.132701 — 1.1760801
0.023962 + 0.2387271
0.328720 — 0.9278471

8.97416 — 0.227661

—0.567585 + 1.0534301
—1.51541 — 0.770841
—1.55197 — 1.728361

0.02177 + 6.747301

—0.567585 — 1.0534301
—1.51541 4 0.770841
—1.55197 4 1.728361

0.02177 — 6.747301

—1.059300 + 0.5607451
0.104792 — 0.2860031
0.754560 + 0.3575561

—2.18567 + 7.772491

= —1.059300 — 0.5607451
= 0.104792 + 0.2860031
= 0.754560 — 0.3575561

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
Il

—2.18567 — 7.772491




Solutions to I7*

V=1 (vol + y/=1CS)

Cusp shape

u = —0.662387 + 1.0250707
a = —1.40530 — 0.893431
b= —0.72294 — 1.449851

—2.68807 + 7.692271

u = —0.662387 — 1.0250701
a = —1.40530 + 0.893431
b= —0.72294 + 1.449851

—2.68807 — 7.692271

—0.663727 4 1.0379801
= 1.38765 4+ 1.083151
= 0.54606 + 1.683251

S
|

—4.61883 4 12.810701

—0.663727 — 1.0379801
1.38765 — 1.083151
0.54606 — 1.683251

—4.61883 — 12.810707

= —0.603158 + 1.0834807
= —1.75432 — 0.316781
—1.84792 — 1.607631

4.61883 + 12.810701

—0.603158 — 1.0834807
= —1.75432 + 0.316781
= —1.84792 4 1.607631

4.61883 — 12.810707

= 1.002200 + 0.8443511
= 0.244445 + 1.1039601

—7.75434 + 5.464921

= —0.692945 — 1.0288701
= 1.002200 — 0.8443511
= 0.244445 — 1.1039601

—7.75434 — 5.464921

= —0.599314 + 0.4640631
= —1.33435 — 1.168201
= —0.107178 — 1.0312601

—1.67199 — 2.073441

—4.37435 + 4.030781

= —0.599314 — 0.4640631
= —1.33435 4+ 1.168201

a
b
u
a
b
u
a
b
u
a
b
u = —0.692945 + 1.0288707
a
b
u
a
b
u
a
b
u
a
b= -0.107178 + 1.0312601

—1.67199 + 2.073441

—4.37435 — 4.030781




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= —0.595289 + 1.0910301
= 1.59309 + 0.272061
1.76899 + 1.489311

5.97017 + 7.336631

—0.595289 — 1.0910307
1.59309 — 0.272061
1.76899 — 1.489311

5.97017 — 7.336631

—0.532947 4 1.1243301
0.912459 + 0.4252721
1.19050 + 1.363181

4.47467 4+ 4.391991

—0.532947 — 1.1243301
0.912459 — 0.4252721
1.19050 — 1.363181

4.47467 — 4.391991

—0.029081 + 1.2977401
—0.435981 — 0.0389341
= —0.178672 — 1.0728601

4.86026 + 10.756901

—0.029081 — 1.2977401
—0.435981 + 0.0389341
—0.178672 4 1.0728601

4.86026 — 10.756901

—0.073579 + 1.3125601
0.338952 + 0.0142681
0.224066 + 1.0239001

7.11233 4 4.711081

—0.073579 — 1.3125601
0.338952 — 0.0142681
0.224066 — 1.0239001

7.11233 — 4.711081

0.687648 + 1.1317301
1.67548 — 0.610531
1.85706 — 1.752201

—19.20931

0.687648 — 1.1317301
1.67548 4 0.610531
1.85706 + 1.752201

> Q@ €| & €|l & €| & €| Q& &> & 8| & 8|l & 8|l & 8| & g
|

19.20931
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Solutions to I} V—=1(vol ++/—=1CS) Cusp shape
= 0.696018 4 1.1356301
= —1.57600 + 0.500921 1.95572 — 13.262701 0
= —1.79380 + 1.584261
= 0.696018 — 1.1356307
= —1.57600 — 0.500921 1.95572 + 13.262701 0

= —1.79380 — 1.584261

= 0.458183 + 0.4803611
= —0.807160 — 1.0602001
= —0.930879 — 0.1363051

—1.65241 — 1.059411

—6.63964 + 4.570241

0.458183 — 0.4803611
—0.807160 + 1.0602001
—0.930879 +- 0.1363051

—1.65241 + 1.059411

—6.63964 — 4.570241

0.686607 + 1.1646001
1.238110 — 0.6599561
1.34714 — 1.610501

—4.86026 — 10.756901

0.686607 — 1.1646001
= 1.238110 + 0.6599561
= 1.34714 +1.610501

—4.86026 4 10.756901

= 0.77502 + 1.186001
= —0.943171 + 0.1280591
= —1.25289 4 0.904071

2.18567 — 7.772491

= 0.77502 — 1.186001
= —0.943171 — 0.1280591
= —1.25289 — 0.904071

> Q& €| & €| & €| & €| €| 2 | Q& 8| & &
|

2.18567 + 7.772491
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II.
I} = (—ad*u+au+b—2a+2, a® —2d*u+2a*+au—2a+3u—1, u> —u+1)

(i) Arc colorings

a
a’u —au + 2a — 2

—au+2
a?u—a?+a—2u

—2d*u+a®—a+2u+2
—2a%u+au—2a+4

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u — 2

12



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,¢2,Co u®
€35, C8 u® —2ut +u? +u? —u+ 1
C9,C10
¢4 ul +4u’ 4+ 6ut +3ud —u? —u+1
2 3
7, C11 (u” +u+1)
2 3
C12 (u —u+ 1)

13



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cq y6
C3,Cs5,C8 y6—4y5+6y4—3y3—y2+y+1
Cg, C10
¢4 y® — 4y +10y* — 1193 + 1992 — 3y + 1
C7,C11,C12 (y2+y+ 1)3

14



(vi) Complex Volumes and Cusp Shapes

Solutions to I3 V—1(vol + /—1CS) Cusp shape
u = 0.500000 + 0.8660251
a= 1.137010 — 0.3404201 —2.029881 0.+ 3.464101

b= 10.669552 — 0.8631431

u = 0.500000 + 0.8660251
a = —1.072830 + 0.6407831 — 2.029881 0.+ 3.464101
b= —1.49343 + 1.844001

u = 0.500000 + 0.8660251
a = —1.06417 + 1.431691 — 2.029881 0.+ 3.464101
b= —0.176126 + 0.7511941

u = 0.500000 — 0.8660251
a= 1.137010 + 0.3404201 2.029881 0. — 3.464101
b= 10.669552 + 0.8631431

u = 0.500000 — 0.8660251
a = —1.072830 — 0.6407831 2.029881 0. —3.464101
b= —1.49343 — 1.844001

uw = 0.500000 — 0.8660251
a = —1.06417 — 1.431691 2.029881 0. —3.464101
b= —0.176126 — 0.7511947

15



I I = (u*+ b, —u?+a—1, u5+ub+u+1)

(i) Arc colorings

ud
a1 = \ud+u
wWHu+1l
a0 =\ —ut+u

(ii) Obstruction class = —1

(iii) Cusp Shapes =6

16



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy W42t + 3+ 2 +u—1
€2, %8, C7 v rut+u—1
C11
C3,C10 (u — 1)5
Cs,C8 u5
€9 ud +ud +2u? —u—2
C12 w—2ut+3u -2 +u+1

17



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4, C12 y® 4+ 2y* + 3y° + 6y° + 5y — 1
C2,Ce, C7 y5+2y4+3y3+2y2+y_1
C11
€3, €10 (y —1)°
C5,C8 y5
€9 Yo+ 2yt —y® —6y® +9y —4

18



(vi) Complex Volumes and Cusp Shapes

Solutions to I§ VvV—1(vol + /—1CS) Cusp shape
uw=0.707729 + 0.8419551
a= 0.79199 + 1.19175] 1.64493 6.00000

b= 1.377004 0.495791

uw= 0.707729 — 0.8419551
0.79199 — 1.191751 1.64493 6.00000
b= 1.37700 — 0.495791

u = —0.389287 4 1.0706801
a= 0.005198 — 0.8336011 1.64493 6.00000
b= —-0.29474 — 1.658541

u = —0.389287 — 1.0706801

a= 0.005198 + 0.8336011 1.64493 6.00000
b= —0.29474 + 1.658541

u = —0.636883

a= 1.40562 1.64493 6.00000
b= —0.164527

19



IV. I} =(b+u, at+u, u> +u®+u—1)

(i) Arc colorings

o
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(ii) Obstruction class = —1

(iii) Cusp Shapes = —6

20



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

‘@ u® 4+ 2ut + 3ud + 20 +u—1

€2, 6, C1 u’ +u? +u+1

C11

€3, C10 u’
¢4 u® +ud —2u? —u 42

Cs, C8 (u =+ 1)5

C9, C12 u’ —2ut 4+ 3ud — 20t +u+1

21



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, C9, C12 y° + 2yt + 3% +6y2 + 5y — 1
C2,Ce, C7 y5+2y4+3y3+2y2+y_1
C11
€3, C10 y°
Cq y5+2y4_y3_6y2+9y_4
Cs,Cs (y—1)°

22



(vi) Complex Volumes and Cusp Shapes

Solutions to I VvV—1(vol + /—1CS) Cusp shape
u = —0.707729 + 0.8419551
a= 0.707729 — 0.841955] | —1.64493 —6.00000

b= 0.707729 — 0.8419551

uw = —0.707729 — 0.8419551
a= 0.707729 + 0.841955] | —1.64493 —6.00000
b= 0.707729 4 0.8419551

u= 0.389287 4 1.0706801
a = —0.389287 — 1.0706801 | —1.64493 —6.00000
b = —0.389287 — 1.0706801

uw=0.389287 — 1.0706801

a = —0.389287 + 1.0706801 | —1.64493 —6.00000
b= —0.389287 4 1.0706801

u= 0.636883

a = —0.636883 —1.64493 —6.00000
b= —0.636883

23



V.
I} = (b*au—2a?*bu+a®u+b®—3b%a+3a?b—a®+2bu—au—a+u—1, u?—u+1)

(i) Arc colorings

ar =

—b%u + 2bau — a®u + ba — a® + 1)

bau — a’u + u

b%u — bau + u

—b2au + 2a%bu — adu + b%2a — 2a2b+a® —bu+ au+b

—b2au + 2a%bu — aPu —bu+a—u
b2a—2a2b+aP+aut+b—a—1

—b2au + 2a%bu — au + b%2a — 2a?b+a® —bu+ au+b

—b2au + 2a%bu — adu + b%a —2a*b+a® —bu+au+ b+ u
—b2au + 2a%bu — aPu —bu+a—u+1

(ii) Obstruction class =1
(iii) Cusp Shapes = 8u — 4

(iv) u-Polynomials at the component : It cannot be defined for a positive
dimension component.

(v) Riley Polynomials at the component : It cannot be defined for a positive
dimension component.
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(iv) Complex Volumes and Cusp Shapes

Solution to I¥ | v/—1(vol ++/—1CS) Cusp shape
u = e e .
a=--- 4.059771 6.928201
h=-..
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VI I} = (bau — a®u 4+ b*> —2ba + bu+a®* —au — b+ u, u? —u+1)

(i) Arc colorings

bau —a’u—au—b+a+u
ba+bu—a?—a+1

ba—a’+au+b—a+1

—a?b—bau+a® —bu+al4+au+b—a
a?bu —aPu—a?b+a® —a?u—ba—bu+a®+au+u—1
a?bu — au —a?b+a® —a’u—ba —bu+a®>+au—1
a?bu — adu+bau —a*u—ba —b+a+2u—1
( —a’b—bau+a® —bu+a’+au+b—a—u+1 >

bau — a?u + u )

az =
as =
a6 = \a?bu — a®u — a?b + a® — a®>u — ba — bu + a® + au — 1
(ii) Obstruction class =1

(iii) Cusp Shapes =0

(iv) u-Polynomials at the component : It cannot be defined for a positive
dimension component.

(v) Riley Polynomials at the component : It cannot be defined for a positive
dimension component.
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(iv) Complex Volumes and Cusp Shapes

Solution to I¢ | v/=1(vol + /=1CS) | Cusp shape
u T e e e
a=--- 0 0
h=-..
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VIL I¥ = (u?a + au + b, u*a + v?a + au — 1)

(i) Arc colorings

0
a2 = \u
a
as = \ —y?aq — au
1
a7: _u2
au + a
as = -1
—au—a+1
ag = 1
U
ail = \u
u3
a1 = \ud+u
—a+u
a10 = \v?a + au + u
Uu
az = \uy
0
ag = u

= (3)

(ii) Obstruction class =1
(iii) Cusp Shapes =0

(iv) u-Polynomials at the component : It cannot be defined for a positive
dimension component.

(v) Riley Polynomials at the component : It cannot be defined for a positive
dimension component.
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(iv) Complex Volumes and Cusp Shapes

Solution to I¥* | /=1(vol + /=1CS) | Cusp shape
u T e e e
a=--- 0 0
h=-..
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VIIL Iy =(b—a—u+1, u> —u+1)

(i) Arc colorings

asz =

= (3)

(ii) Obstruction class =1
(iii) Cusp Shapes =0

(iv) u-Polynomials at the component : It cannot be defined for a positive
dimension component.

(v) Riley Polynomials at the component : It cannot be defined for a positive
dimension component.
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(iv) Complex Volumes and Cusp Shapes

Solution to I¢ | v/=1(vol + /=1CS) | Cusp shape
u T e e e
a=--- 0 0
h=-..
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IX. I = {(a, b —2b* —b* + b2+ b+ 1, v —1)

(i) Arc colorings

aio =
—b
a3 = \-p>+b
bt — b 41
az= \p>-b—1
b3 —2b
a6 = \—b>+b

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4b% — 4b — 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
! (u* +u+1)3
2 3
2, Ce (v —u+1)
C3,C4,C
3,04, &5 W2t — P+ +u+1
€8, C10
6
C7,C11,C12 u
9 wl— 4w +6ut —3uP —uwP+u+1

33



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, C2, Cg (y* +y+1)>
€3,C4,C5 W — a6yt — 3y -ty +1
g, C10
C7,C11,C12 y6
€9 Y — 4y +10y* — 119° + 1992 — 3y + 1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/—1CS) Cusp shape
v = 1.00000
a= 0 — 2.029881 0.+ 3.464101
b= —1.033350 + 0.428825]
v = 1.00000
0 2.029881 0. — 3.464101
b= —1.033350 — 0.428825]
v = 1.00000
a= 0 — 2.029881 0.+ 3.464101
b= 1.252310 4+ 0.2373641
v = 1.00000
a= 0 2.0298871 0. — 3.464101
b= 1.252310 — 0.2373641
v = 1.00000
0 2.029881 0. — 3.464101
b= —0.218964 + 0.6661881
v = 1.00000
a= 0 — 2.029881 0.+ 3.464101

b= —0.218964 — 0.6661881
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X. u-Polynomials

Crossings u-Polynomials at each crossing
c1 25u (u? + u + 1)3(u® + 2u* 4+ 3u® + 2u® +u —1)2
- (25u®® + 680u’” + - - - + 7437476u + 727609)
¢2, 5u(u? —u 413w’ +ud +u—1)(u® +u +u+1)
- (5u%® + 30u" + - - - + 5054u + 853)
cs, C10 81u(u — 1)%(u® — 2u* + -+ +u+ 1) (b —2u* + - —u+1)
< (810 + 648u®" +- - - + 29832u + 4477)
e 64(u® +u® — 2u® —u + 2)(u® + 2u* + 3u® + 2u® 4 u — 1)
(=20t —w® w4 w4 1) (68 du® 4 6ut +3u —u? —u 1)
- (64uS® — 256u57 4- - - . — 49484520u + 9687600)
¢s, Cg 81u5(u+1)5(u6—2u4+~-~+u+1)(u6 — ot 4. —u+1)
- (81u%® — 648u57 + - - - — 29832u + 4477)
¢r, cin 5ul(u? +u+ 1) (u® +ud +u— 1)U +u® +u+1)
- (5u%® — 30087 4 - - - — 5054u + 853)
co 64(u’ +u® + 2u® —u — 2)(u® — 2u? + 3u® — 2u® +u+1)
c(u® = 2ut P u? — w4 1) (u® - 4u® F 6ut - 30 —u Fu 1)
- (64u5® + 256u°7 + - - - + 49484520u + 9687600)
1o 25u8 (u? — u + 1)3(u® — 2u* + 3u® — 2u? + u + 1)?

- (25u®® — 680uST + - - - — T437476u + 727609)
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XI. Riley Polynomials

Crossings Riley Polynomials at each crossing
1. c1n 62595 (42 +y + 1)%(y° + 2y* + 3y° + 6y> + 5y — 1)?
- (625y%8 + 16300y°7 + - - - 4 11609525524248y + 529414856881)
€2, C6, C7 25y° (v +y+1)°(v° + 20" +3y° + 207 +y — 1)°
cn - (25y%% + 680y57 + - - - 4 7437476y + 727609)
€3, C5,C8 6561y°(y — 1)°(y® — 4y® + 6y* — 3y — > +y + 1)?
c10 - (6561498 — 279936157 + - - - — 36157462y + 20043529)
4096(y° + 2y* — 3> — 692 + 9y — 4)(y° + 2y* + 3y + 6y + 5y — 1)
C4, Cg

“(y° =4y + 6yt =3y° — P +y+1)
(S — 4y + 10yt — 1192 +199% — 3y + 1)
- (4096y% — 8192¢°7 + - - - — 815469037963200y + 93849593760000)
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